PETRUS KY VIETNAMESE COMMUNITY

COLLEGE In partnership IN AUSTRALIA
NEW SOUTH WALES NSW CHAPTER
JULY 2007

MATHEMATICS EXTENSION 2

PRE-TRIAL TEST

HIGHER SCHOOL CERTIFICATE (HSC)

Student Number:

Student Name:

General Instructions Total marks — 84
e Reading time — 5 minutes e Attempt Questions 1-7
e Working time — 3 hours
e Write using black or blue pen e All questions are of equal value
e Board-approved calculators may be used
e A table of standard integrals is provided

at the back of this paper
e All necessary working should be shown
in every question

e \Write your Student Number and your Name
on all working booklets
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Marks

Question 1 12

3x2—6x+1 2
' d
0 | x=3)0C+1)

(ii) jolx.tan‘1 X.dx

(iii) IO”/2\/1+ sin 2x.dx 2

=12¢c0s(2n +1)0 4

(iv)If I :I d@, show that

0 cosd
I, +1,,=0 for n>1. Hence find the value of | for n>0

n

2 1
(v) Iﬁ—xmdx
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Question 2 12

(A) Express Z = J3+i and W =1+i inthe MOD-ARG forms and hence 2
20

evaluate — in the form a + bi
Z

(B) If Z =i—1, show clearly on an Argand diagrams all the points representing 2
the complex numbers.

722,782 \22,-2,2.i2,2* -7 7

1+ c0s268 +isin 260 2
1+co0s28 —isin26

Hence show that Z" =c0s2né + isin 2né

(C) Simplify Z =

(D) Express C0S66 as a polynomial in terms of C0S& hence show that 4

T 3 57 1 Or 117
c0S—, c0OS—, C0OS—, COS—, COS— and COS—2 are the roots of

12 12 12° 12 12
the equation 32x° —48x* +18x*-1=0

(E) If w is the complex cube root of unity, 2% =1 then simplify 2

1 N 1
3+5W+3wW 7+ 7w+ 9w’
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Question 3 12

(A)

(i) If P(X) = x* —6X* + 9% + C for some real number c, find the value of 3
X for which P'(x)=0.

Hence find the values of ¢ for which the equation P(X) has a repeated
root.

(i) Sketch the graphs of y = P(X) with this values of c, hence find the set of 3
values of ¢ for which the equation P(X) =0 has only one real root.

2 2

(B) Show that the equation + y 1, where K is a real number ,
36—k 20—k
represents:
(i) an ellipse if k <20 2
(i) a hyperbola if 20 <k <36 2

(iii) Show that the foci of the ellipse in (i) or hyperbola in (ii) are independent 2
of the value of K .
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Question 4

(A)
C
(i) The normal at point P(Ct,?j on the hyperbola Xy = c? cuts the line

Yy =X at Q. Find the co-ordinates of Q.

(if) Show that OP = PQ and hence show that there is no point on the parabola
for which the length of PQ is less than C\/E

2 2

y

X
(B) Two points P and Q lie on the ellipse ? + F =1. Their parameters are

given as @ and 0+%.

(i) Show that Q has co-ordinates (—asin 6, bcos 6’) . Hence prove:

OP? +0Q% =a* +b?
(ii) Find the locus of midpoint M of PQ.

(iii) If « is the acute angle between the 2 tangents at P and at Q, show that

21— ¢e?

tana = >
e“.sin26

12
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Question 5 12

(A) By using the division of two graphs, or otherwise, sketch the curve

3X
x> —4

(B) Find the domain and range of curve Yy = cos™ (€") and hence sketch the
graph of y =cos (")

(C) Let f(X) = (sinx—cosXx)?, find the period and range of f (X), hence
sketch the curve of f(X) with —z<Xx< 7.
From the separated graph, sketch the following curve.

I |
(I)y_—f(x)

(i) y=+f(x)
(i) y=¢n[ f(X)]

) y="f(x)
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Question 6 12

(A) The base of a certain solid is the region bounded by the curves y2 =4x and 6

X* = 4y, and its cross-sections by planes perpendicular to the x-axis are semi
circles. Find the volume of the solid.

Y

cross-section
area

Base area

(B) The area bounded by 2 arcs and 2 chords of a circle as shown in the figure 6
below, is let to rotate about the x-axis. Find the volume of the solid shape.
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Question 7 12

(A) Mice are placed in the centre of a maze which has 5 exits. Each mouse is
equally likely to leave the maze through any one of the 5 exits. Four mice A, B, C,
D are put into the maze and behave independently.

(i) Find the probability that A, B, C, D all come out the same exit. 1

(ii) What is the probability that A, B and C come out the same exit and D 1
comes out a different exit.

(iii) What is the probability that any 3 of 4 mice come out the same exit and 1
the other comes out a different exit.

(iv) What is the probability that no more than 2 mice come out the same exit. 1

B)If gy=1and g, =/3+2u, , forn=2

(i) show that gz, <3 for n>1 2

(ii) deduce that g, , > g, for n>1 2
(C) By using induction method , prove that 3*™? + 2.4°™is divisible by 17 for 4
n>1
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STANDARD INTEGRALS

1 .
" dx = " opnz—1 xz0,ifn<0
) n+1
"
_rd‘T =Inx, x=0
[rky ] @x
ey =—¢g, azl
o
1 .
cosdax dx =—sinax, a=0
) a
. 1
sinaxdx =——cosax, a=0
) a
5 1
secTardx =—tanax, a=0
) a
1
secdx tanax dx =Esem:r, a=0

J dx ==&in %, a=0, —a<x<a
. 1 (2 2
——dx =ln[x+-\-x —a ], x=a=0

ax = ln[ X+ -x-"}:z +a* ]

MNOTE : lnx=log€x, x=0
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PETRUS KY VIETNAMESE COMMUNITY

COLLEGE In partnership IN AUSTRALIA
NEW SOUTH WALES NSW CHAPTER
JULY 2007

MATHEMATICS EXTENSION 2 - SOLUTION

PRE-TRIAL TEST

HIGHER SCHOOL CERTIFICATE (HSC)

Student Number:

Student Name:

General Instructions Total marks — 84
e Reading time — 5 minutes e Attempt Questions 1-7
e Working time — 3 hours
e Write using black or blue pen e All questions are of equal value
e Board-approved calculators may be used
e A table of standard integrals is provided

at the back of this paper
e All necessary working should be shown
in every question

e \Write your Student Number and your Name
on all working booklets
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Question 1

i) f 3x2 —6x+1

(x=3)(x* +1)
f 3x’_6x + / x = j Sxt6oe + 1 .
’ (x'S)(x2+4) x3— 3’4 x -3

| T - g (=saten-a) o

(ii) jolx.tan‘1 x.dx

! - =1 2
_i 2 _i
Sx.fan)cd}x =l£.ﬁ:\nx _.*_J,_.‘)_C__.__dx
Z 2 2
o |1+ X

]

= .17'_ — -(- x - +ar1_'x
14
=
i I L J
Z —_- - -~ [ - -
8 Z ( 4
- T i
72 -
(iii) IO vV1+sin2x.dx
T/ /2
f \/14 sinkx . dx = \/Sinzx ¥+ oS x ¢ Rsinx cosx dx
o [

Tk
= \/ s . 2
( (smx + cosx) el
(o]
- ,Z/l.
= l__ wsx -+ Sun X }
- )

Py
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Petrus Ky College

=12€0s(2n +1)6
(iv) If In:j gdﬁ, show that
0 cosd
I, +1,,=0 for n>1. Hence find the value of I for n>0
/2
Il’\ _ cos (2Zn+1) € Je
o s &
s e “
I+, = f cos(2nr1) + cs(2n=D7 g
B & (ose

7ja -
-;f ,ZC.OS('E’)_}J‘_;ZH f)é.ms(Znn\u‘Ezr}-&f)&g{a

o cos €

/Y
=2§ cos2n6. 05© Jo
o cos®

- -T2
= lizs;‘nzha = 0
an

it/
Hence Io = ( s & Jde = r
o (wsB z
Then 3 Il = --Io =
I.?. = —_— I[ =

V4
W}Iéh x = )/2 ) D Z
= 2 8 = _’E
/3

7 f secd. fand . A [Tl/g
A = — = 48 - —7'Z _ E
secB . |fser s —1 E A

- £
]2
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Question 2

(A) Express Z = J3+i and W =1+i inthe MOD-ARG forms and hence
20
evaluate —— in the form a + bi
W

&
w o= A+ £ = Yz s z
= 4
Then ZZO 220 _ zon
“us —— 5 _
o - = & = 2 ok _?_%)n
7 . 7 i
w (R ) ers 297
' 4
Fers (~ 25 \n 2 cos fLan K
= 2 us(-—z—) = us(— -z

= 25’(605 (—%) + ¢‘5"‘"(*%)>

-
3 _ 4
:32(,2. A

20
Z - Ié\f?;«-!éc
w 30 -

(B) If Z =i—1, show clearly on an Argand diagrams all the points representing
the complex numbers.

772%27372Y2272.-2,2i7,2°-7 7
ARGAND cliagfam of Z = (=1

/1

12
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1+ c0s268 +isin 260 2
1+co0s268 —isin26

Hence show that Z" =cos2né + isin2né

(C) Simplify Z =

Blerplify : 5 _ At 528 + isin 28
44 w28 ~ Csin 2B

2
~ ZessT o 4 2088 . 8in o

Reoss — 20 cose, $in B

- 2}4@ ( esd + isin®d )
2?"5/6 (Ccs@ = [St‘n'@)

_ (cos & + isin ) (36 + (5in )
= e A
(86 ~ csin)  (cosO + £sinf )

2
z (coS@ + [ané)

i

By De Moapres * thecrenm lz = coSRE + (sinle {

T)vm/crz z”7 - (QMZG + SEnRB )

Vel
[ Z = coslnd ¢ (“sr‘;,z,)zgl

(D) Express C0S66 as a polynomial in terms of C0S@ hence show that 4

T 3z 57 1 Or 117
C0OS—, COS—, COS—, COS——, COS— and COS—— are the roots of
12 12 12 12 12

the equation 32x° —48x* +18x*-1=0
- 6 A
(cos & + ising ) = cosbb 4+ Lsingd
Using bincmial expansicn
. b ys ~ LYy N -2 4 2
(wse' + LSih§> = €5 B + 6L ot B.5inl + 150 os B .sin B + 30¢ ?’msse.sinse

£

. 4 a . L .
+ 151 eos 6.9:’)446 + ét‘5w36'55hfe+1gt\hbﬁ

Eﬂuoknﬁ He wal terms

b 4 z 2
s b = Vb — ISces €.8in @ + 15y \9.91‘»\49 _,513168 .
= costt —i5 wste (V —@s%0 ) + 15cos’® (1~ 2¢os’b + wst )

- ( U 3cws®t + 3costp —cws®e )

1 s bl = Bﬂwséé - AZC‘OS*@ -+ Igaoszé - ;l

%{va.n Qﬂma‘;'t‘oh 3.2)(5-—- 4% X4+|8Xa-—l =0
Le_i' w = (.‘.656‘ -) Hren w Le‘{4 kand %Re q’ QL}'-L@“'IE:IJ-\
becomen
wstl = O
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Qo/vzhj e?uaﬁcn ceS66 = o

Lo = X 32 sE JT Grn /]
2027 27T 0

< 27 2z
There fore s cos 2T cos SE | s TR oS D ) oo T are
f 2 /) 2! 72 2 2 ) 7 o e 12

T 7 e given e7aaﬁ"an,

(E) If W is the complex cube root of unity, 2% =1 then simplify

1 N 1
3+5W+3wW? 7+ 7w+ 9w’

,’.'7[ w J'/J cné. I‘Gc,‘(; d’of He 371_,@#[&,‘ 2:3: ¢ , SHen 4 anct
Wi ane oHier reefs andd 4y W4 w? - o
S-Fr“npff](g
/ 4
A = +
35w 4 3w? T+7w + 9w’
/ 4
— -+ —— ,
S(J_j—we) +Sw 7( fpw ) + Iw
1 4
= _—_ F ——-——-—————"'z Y
—3w + 5w ~AW "4 Fw
= A 4 ,__I__E
2w/ 2w
_ w1
2w?
_ —w?
aw?
{
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Question 3

(A)

(i) If P(X) = x* —6X* + 9% + C for some real number c, find the value of X
for which P'(x) =0.

Hence find the values of ¢ for which the equation P(X) has a repeated
root.

3 )
P(x)= x> —é6x* t4x ¢ C

P o) = 3x¥_ i2x +9

let P(x)= o0 3(x‘—4x€3)=0

2 = { oV 5
P(sc) has re peoted ret “{’)

@y PGy =Pda)-0

"o“ '\_b,{.ﬁ{_c:o , c = -4

by (3> =Poe>=°

G

. = c= O
[ 17”5’4+27+C=U)

(i) Sketch the graphs of y = P(X) with this values of ¢, hence find the set of
values of ¢ for which the equation P(x) =0 has only one real root.

3 i 4
- P = 2 —bXx +93x —
Sketeh 2 curveh \i““) R : 4
prx) = X -@¥ 7%
AY
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Thn orolen :faf +he curve P()C) has chlij one X lln"‘ejzcefs‘f) i+

hos to be lowet then P ey of hfﬂkw Hon £, (x). Tﬁw,q,jga,z
Y = fna); or\( one. "‘06'(‘ i

Hee eﬁ/,:.aﬁcr\ P(>x)=0 Y H!C

(C(-A or c>oj

2 2
y =1, where Kk is a real number ,

(B) Show that the equation X +
36-k 20—k

represents:

(i) an ellipse if k <20
j€7f k <20
Value  then  the e:;uoné’cn
x2+ izz (¢, i+ w an
a’ bh?
(i) a hyperbola if 20 <k <36
I ki, fe eyffroend wnder yfis @ pepatie
value ard k36, The coeffz"a?ﬂ?j indey x " /s a
then the <gudkion con b¢ exprested b

the coeﬁffczzh/ wndler y 5 oa /ﬂcS/%«UCv
can be ex/wew/ as

e///;pse_

/oosf/a‘ue value

_)}_j— ,;4_2.2_ / oA a ﬁﬁ/zwéo/a
a2 42 - ’
(iii) Show that the foci of the ellipse in (i) or hyperbola in (ii) are independent

of the value of k .

2

S ( ge, o) ancf Sl(—oe,o]
%= aZ(r—e%)

E?waw“fdn P eccen?é'f'cr"f"y .
J’ 2 4 2

a — a é

Fe ei c.j‘ e/f.-;pse are

2 £ 2z
a’e a — b

il

36—k - (20-Kk) = /6

= i;j‘.

3(4}_0] and 3’(-_4)0] fmf'e/se:dfcg’

1]

ae
The n Foct

foci ot Ag)oméa/a s (ae) e) s /(aeJ.o )
f_';}ua-}z‘cn ‘,’7” eCCeh){r!_C!}i? b a.: az(e ‘¢ )
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0% %e bi 4t
==(20 — k) » 36 —K

aéz— A

ae = 14

Foci of bgperbels S (4,0) S'(~4,0) nlperdect of k

Question 4 12

(A)
. _ c ) _ 2
(i) The normal at point P Ct,? on the hyperbola Xy =C” cuts the line

Yy =X at Q. Find the co-ordinates of Q.

Rocta g ulae h\j ?%Lo[a
NMormal ot Vi ) y - f = l“’(pc —ect )
Intense é?’l—(‘h /JCI}\/ @ w/H Srne y = 20

2 3
2% — = fx,_czl

£
t+
x/{z__/) :f[{*_,)
o = }f(f‘z_)./)

e (e, €ty )
(ii) Show that OP = PQ and hence show that there is no point on the parabola 4
for which the length of PQ is less than C\/E

Show thot  ©F . P&

2 2,2 2 2z
CP = ¢+ 7. ¢ 4
= }‘z(‘*‘)

© (c:f_zc({i,Lr)) £+ (éﬁ_ti(fﬁ;))&

(cé—c{rsz_,. (f _cé_%)z

3

2 2 )
+52?~‘2:—C(1"'§-.&f’j
i,}

<
fz

L oP - P&
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The shontert  elrstance from O o ﬁﬁpwéo/a Vs Hhe olistrnce

P whuzh ler on

Coprolenates of Fhat loc;'n/ P am (c,c )
Astarce s ©F = eIz , thewfore fere Ly Mo peint P

wheeh  give P& L etz

2 2
. . . X y .
(B) Two points P and Q lie on the ellipse ? + F =1. Their parameters are

given as € and 9+%.

(i) Show that Q has co-ordinates (—asin @, bcosé). Hence prove:

OP? +0Q% =a’ +b’
P (acasﬁ 5 bsind )

Q (“503(87#% )) LS}‘h/Q*f%Z"))

ces (94-%) R ws(ﬂ_(Q,u%ZJ)

-cos(_:;Z _¢)

Qnce

1]

- J— 9}‘}'16[
Sin (ﬂe(&,«’%))

= S}H(% ~-&)

n

a/n {5-;—:?

- b

Then  ce-ordinatzs ‘3,, K (__ ann-é’/ Lco.':'z9)

(i) Find the locus of midpoint M of PQ.

Mipz/.%‘/'hf M
x = Mé: a (wsﬁ.—sfh@ D
2 2
‘17: 55/7\19 + _éaf'i-é’: é (COS‘e —+ S[hé )
2
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2 4

{eos@ -—-inne) = 77
(cos6 + Sf’tﬁ)z = 2y
b2

2
4 —_ /25/‘»119, C/JS"@ = 4—‘%—2
S Asind. AR 4y *

A 2
57#3{2‘6)\ odf LDMS o[ +
)&Z y 2 y
— 4+ =5 =
= b<
> —

E 2
(iii) If « is the acute angle between the 2 tangents at P and at Q, show that 2

l _ 2
tanozzzzl_—e
e“.sin26

D{ﬁ' enenfiale e?!-ldﬁ'm of ellipse

22 2y Ay

2z 49 _

a? b%  Hx

AY b
Ax "zj'
A
sadien 7 en? af P ﬁ},:-n&.aCaSt@
(== T -] =1 ~ R
5 7 )?'(7‘ d? 5?1376’
’ = _ b cos &
a Sind
?mdmnf GJ’ ﬁ::jen/ af & mg} - 2 4 2 asin
a’ b e g
= é ) sind
4 e
Acuéf arﬁ)\'{ ege?‘wee)\ 2 /cm?enlzﬂ
m, — M
i+ W\P. &
b ws 6 _'2 sinb
= A Sing a cosé
A b_ wtB b sink
a sind a cost
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2 \29
_ _E( ws 6 + Sin \

= sind. Vb
j- b
az
_ 2 ab _ 2 S b
- X =
sind P a’ b* S5/n20 a‘e?
2
fono = 2Vi-e®
¢ zé;’néé’
Question 5 12
(A) By using the division of two graphs, or otherwise, sketch the curve 2
. 3X
x> —4
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(B) Find the domain and range of curve y =c0s " (€*) and hence sketch the 2
graph of y =cos (")

= ¢oS -I('ex)

4
Do in eX(i then —-a <x Lo
Renqe 0Ky <%
TLQ cufve
AY
- —— T
> x

(C) Let f(x)=(sinx—cosx)?, find the period and range of f (X), hence 4

sketch the curve of f(X) with —7 < X< 7.
From the separated graph, sketch the following curve.

2z

{(X ) = (thx — CoS 3 )
L2 . 2
= St x — 2SinY ¢y 4 cos ¢

- A sinZ3
?uwool A _ R

Amrbl“‘bld& = /(
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(l) j;-g(x>: I—Sl‘hlx.

wi-

L

“')2

¥

-1 LAn -1
~ 2

Gv) y= n[402)]

I

Petrus Ky College
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() y="1(|x) 1

Question 6 12

(A) The base of a certain solid is the region bounded by the curves y2 =4X and 6

x? = 4y, and its cross-sections by planes perpendicular to the x-axis are semi
circles. Find the volume of the solid.

cross-section
area

Base area

S/Ib/‘nﬁ e oo JV = A.dA

A- 1Lar*
2
0/ whieh ; 2:,71 —y,z R -_-)_cz_
2 &
2

A
R = Ve — =
&
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Ah = dx

2
.«W:f;z (,i;__g_) o

) ke , 2t
,}R(x,._x‘j- +é4 )d')c‘

Thfersectron }x-n—,f cgr’ < curves e o 4y
z
f} = 4 X
2 q
- (_J.d- ) = 42
4 .
X i Ghzx =0
0= O or A
7;1(6-?\- . _ ‘9‘!77/ rzﬁ“— +
L, = = - % - ——
V= dinoi? = elv 2 (
dx o [#]
/4 4
2 T o
a | X -4 s 4+ ]
320 A,

/
6 _ 128, 16

:%R(T@'_m 5')

‘ V - 2229 unit  cuhe

(B) The area bounded by 2 arcs and 2 chords of a circle as shown in the figure

PRV
=)

below, is let to rotate about the x-axis. Find the volume of the solid shape.

HSC Pre-Trial
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C:.ffj_n J{F:‘(d/ S‘t‘le// N Q’V =

2T RS AR
R - j
}1= 2x
AR = Ay
AV= 47 xydy.
E‘?ﬂc‘?ctbf? odf’ ecrele ; )c)l.»jz:a?i‘

o2 Yoy g

2%
V: ,A»mf?‘ Z AV = 4T Y MJ:{

[~

tﬂ"j-:bo

5. 1 A8
-4 L-—j (zg'#?z) /4]

(=]

= 4N (_;: (5(.!‘3*—(25*))

’V: 183.5 amid  eube

Question 7 12
(A) Mice are placed in the centre of a maze which has 5 exits. Each mouse is
equally likely to leave the maze through any one of the 5 exits. Four mice
A, B, C, D are put into the maze and behave independently.
(B)
(i) Find the probability that A, B, C, D all come out the same exit. 1
. . i i
't:'(4 mice cul Saine exit) = ; x -%— "EL = l.%)_
(if) What is the probability that A, B and C come out the same exit and D 1
comes out a different exit.
A Ly 4
P(A, B, c out same exit  but chffeﬁzrd f(‘ff Dy = G x = X?‘ = i_gs'
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(iii) What is the probability that any 3 of 4 mice come out the same exit and 1
the other comes out a different exit.

P (3 mice cut same exit  and otheir  out olf(fe‘-“evd e“':")

:A—K__AL :at—t-’——
i25 <5

(iv) What is the probability that no more than 2 mice come out the same exit. 1

; Seav it
F( ne nove Hhan R mice out Same exi 3

-

A - {f( 3 e same cxid ) + P& wice same
ex i } I

A(i b
|\ —fr—ror— *—/

nH

"

Y DA
= | 0¥
125
B)If gy =1and u =3+2u , forn>2
. N H (\c‘l
hew W Tnductien ~oeth
Tn- eﬁual‘ﬁ , Sthew 9 "

(i) show that £, <3 for n>1

2
Sheww U 3> u, = .
P
- U
Test Hme for N £ ; u?- - \/‘S h
= \/h%+2xi
U, = Vs <3
P <

The stateiment s true f'(,r n= 2
¢ = | ~ L 3
Assuming +rue for n =k , e ! K <

Preve  true {c." n = k+i i.e >L(K'+I < 3

) ]
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£ roo‘:’ g

Since qK < =
Hence 5+2MK<‘6

There{c.fe V3 +2Uy < ER

= uK‘-i-l <3

Conclusion
Gince the siatement s dwe fer a= it s rro‘v‘e'(
iAo drue {m’ every

alse  true (C‘f n= £ ancl 50 on

infegers N

(i) deduce that g¢,,, > p, for n>1

) Decluce un-.-\ > u'n
s Since 3> U,
2
Then ;uh > b{h
o And 3 > U,

2u, + 3 > 3u,

PA
. Se AU, +3 > U,
2 2
uh +1 > 'V{h
’ . ‘ uh +1 > uh ‘
(C) By using induction method , prove that 3*"** + 2.4>""is divisible by 17 for 4
n>1
an +R An +\ i
Tielue Fren metheol , rrcvz 3 + 2. 4 iS

diviaible by i7 .

— i fcf N =1
, Test drue t

4+ 2 3t

2 + 2x a 1241

)

1

73 x 17 15 divigi ble bj 7
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~ Assum{rﬁ

true {or n= k

LG+ 2 2k 4 .
+ Ax 4 = |7"> (p is inteqer )
o Frove true For n = k¢!
SRR ACk 1)+l _
-+ IAx 4 = i77 (ci ¥ H\"fj?l‘)
Gince
4+ 2 A+ |
5 = lff) — 2)< 4
Then
4k +4 +2 Jie+3 + 1 4 L 41
+2K4- = 5(|7P"2x4§ )—
2 41 Pl
2Ax 4 x &
EY
3 e = E7ua!.h_ 9\ Li /gl —LA.\
l_l"2 § ™~ 2 " ~ ~ ) \ ~ Vi
Ak +!
- 7 (glr\ - 2x 4 )
_ V7 (1 clivisi ble by i7
o Since the stateiment s Hue {or n=i, v s
alse  true f::r n= 2 )ar\c;i so en 1 is Frue fer

any  values e/]C s‘nfa.f}er n .
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